ERET—FERYIEEARETE (R 3ERE)

#43-2

(CHUEEDR@EU]

Bifirt

i R2 R3 R4 R5 R6 R7 R8 R9 R10 R11 R12
1ot 59— 2,348 2,301 2,307 2,311 2,304 2,302 2,298 2,300 2,291 2,287 2,284
H T H (RER—AEFERY) 2,235 2,127 2,271 2,272 2,263 2,261 2,256 2,259 2,250 2,248 2,247
HTH- URILIEIS —B H T H (BER—MRESY) 1,318 1,310 1,582 1,600 1,609 1,621 1,631 1,643 1,647 1,654 1,661
&2 URWIEE &F 3,653 3,437 3,853 3,873 3,872 3,882 3,887 3,902 3,897 3,902 3,907
R 7,812 8,130 8,102 8,082 8,019 7,979 7,927 7,896 7,823 7,772 7,720
WA 120 206 198 198 198 197 197 197 196 195 194
KER—MRBERY (S 7,932 8,336 8,300 8,281 8,217 8,176 8,123 8,093 8,018 7,966 7,915
AR 1,024 1,405 2,076 2,106 2,129 2,156 2,171 2,189 2,200 2,215 2,229
UE(ULRUE- TKEE) 91 85 110 110 110 110 110 110 110 110 110
—% G CHEE 531 502 572 575 575 576 577 579 578 579 580
BIR(AE) %A 21 18 22 22 22 21 21 21 21 21 21
eSS M UT1 T7RETR) 144 144 146 146 146 146 146 146 146 146 146
B IRETE 640 678 1,246 1,247 1,244 1,242 1,239 1,238 1,232 1,228 1,224
BERLRREEY(SET) 2,452 2,831 4,170 4,205 4,224 4,251 4,263 4,282 4,286 4,298 4,310
— MR (55 10,384 11,167 12,470 12,486 12,441 12,428 12,386 12,375 12,305 12,265 12,225
AR 2,321 1,719 1,690 1,690 1,690 1,690 1,690 1,690 1,690 1,690 1,690
R TEKE 1 0 0 0 0 0 0 0 0 0 0
ERREREY (55T 2,321 1,719 1,690 1,690 1,690 1,690 1,690 1,690 1,690 1,690 1,690
=) BEENEER &3 12,705 12,886 14,160 14,176 14,131 14,117 14,076 14,065 13,994 13,955 13,914
AR 827 845 902 892 876 864 850 839 823 809 795
X 187 132 149 149 148 148 148 147 147 146 146
73 tun 0 0 -106 -106 -105 -105 -105 -105 -104 -104 -104
KER—MRBERY (S 1,014 977 945 935 919 907 893 881 865 851 838
IR 121 126 206 207 206 206 205 205 204 203 203
—m UA 10 8 10 10 10 10 10 10 10 10 10
BRSRA 162 165 144 142 139 137 134 132 130 127 125
Wi 9 4 5 5 5 5 5 5 5 5 5
CHUIES TRERNIK (—BE) 1,575 1,541 1,740 1,742 1,736 1,735 1,730 1,728 1,720 1,715 1,710
M7 4 TR 18 21 24 24 24 24 24 24 24 24 24
BERLRREEY(SET) 1,895 1,866 2,129 2,129 2,120 2,116 2,108 2,104 2,092 2,084 2,077
—REEEY(&ED 2,909 2,843 3,074 3,064 3,039 3,023 3,000 2,985 2,957 2,935 2,914
PR 1,231 1,380 1,285 1,285 1,285 1,285 1,285 1,285 1,285 1,285 1,285
o~ TIREAIIK (EEE) 552 541 611 612 610 610 608 607 604 603 601
TERE 4 3 0 0 0 0 0 0 0 0 0
EEREZY (55 1,786 1,924 1,896 1,897 1,895 1,894 1,892 1,892 1,889 1,887 1,885
=1 CHNIBE BF 4,695 4,767 4,970 4,960 4,034 4,917 4,893 4,877 4,845 4,822 4,800
—B& REFR—RBEEY 13,530 13,740 13,823 13,799 13,703 13,646 13,570 13,533 13,424 13,353 13,283
—R+ER | BRRERY 9,772 9,651 11,467 11,521 11,538 11,573 11,583 11,612 11,603 11,613 11,622
CHUES (—h%Bez=) 5,664 6,007 7,881 7,935 7,954 7,989 8,001 8,030 8,025 8,036 8,047
(EXEE=Y) 4,108 3,643 3,586 3,586 3,584 3,584 3,582 3,582 3,578 3,577 3,575
=) Hwas 23,302 23,391 25,290 25,321 25,241 25,219 25,153 25,145 25,027 24,966 24,905
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fEa% R2 R3 R4 R5 R6 R7 R8 R9 R10 R11 R12
Aot 5— 2,348 2,301 2,319 2,311 2,304 2,302 2,298 2,300 2,291 2,287 2,284
G CH (REZR—MREREY) 2,235 2,127 2,271 2,272 2,263 2,261 2,256 2,259 2,250 2,248 2,247
£ URNIES —B FTH(FXRR—MREEY) 1,318 1,310 1,316 1,319 1,313 1,312 1,308 1,308 1,301 1,297 1,293
ETH-URNES &F 3,553 3,437 3,587 3,591 3,576 3,573 3,564 3,567 3,551 3,545 3,540
AR 7,812 8,130 8,102 8,082 8,019 7,979 7,927 7,896 7,823 7,772 7,720
X 120 206 163 163 163 162 162 162 161 161 160
RER—MRERY (55T) 7,932 8,336 8,265 8,245 8,182 8,141 8,089 8,058 7,984 7,933 7,880
AR 1,024 1,405 1,405 1,409 1,403 1,401 1,397 1,397 1,389 1,386 1,382
UE(URRUE- TK&E&E) 91 85 88 88 88 88 88 88 88 88 88
—B G CHERA 531 502 545 546 544 543 542 542 540 539 538
BIR(AIR) A 21 18 20 20 20 20 20 20 19 19 19
BEANEER M T4 T7RETR) 144 144 144 144 144 144 144 144 144 144 144
HIRETE 640 678 700 700 700 700 700 700 700 700 700
BERRRERY(GED 2,452 2,831 2,902 2,907 2,899 2,896 2,891 2,891 2,880 2,876 2,871
— xR (GE) 10,384 11,167 11,167 11,152 11,081 11,037 10,980 10,949 10,864 10,809 10,751
AR 2,321 1,719 1,719 1,719 1,719 1,719 1,719 1,719 1,719 1,719 1,719
EERE TERE 1 0 0 0 0 0 0 0 0 0 0
EXERY () 2,321 1,719 1,719 1,719 1,719 1,719 1,719 1,719 1,719 1,719 1,719
=L BEEEER BF 12,705 12,886 12,886 12,871 12,800 12,756 12,699 12,668 12,583 12,528 12,470
AR 827 845 837 839 836 835 832 832 828 825 823
iEWAN 187 132 160 160 159 159 159 159 158 157 157
E75 0 tat 0 0] 0 0 0 0 0 0 0 0 0
RER—MRERY (G55T) 1,014 977 997 999 995 994 991 991 986 982 980
AR 121 126 123 124 123 123 123 123 122 122 121
_ LA 10 8 9 9 9 9 9 9 9 9 9
= BR%A 162 165 165 165 164 164 164 164 163 163 163
HARA 9 4 10 10 10 10 10 10 10 10 9
C H IR TR (—BE) 1,575 1,541 1,784 1,782 1,772 1,766 1,758 1,754 1,742 1,734 1,726
MIT 4 TRE) 18 21 20 20 20 20 20 20 20 20 20
BERRRERYD(GED 1,895 1,866 2,111 2,110 2,098 2,092 2,084 2,080 2,066 2,058 2,048
—HRBERM (A5 2,909 2,843 3,108 3,109 3,093 3,086 3,075 3,071 3,052 3,040 3,028
AR 1,231 1,380 1,380 1,380 1,380 1,380 1,380 1,380 1,380 1,380 1,380
P AR (FEBE) 552 541 340 340 340 340 340 340 340 340 340
NERE 4 3 0 0 0 0 0 0 0 0 0
EEREEREY) (G5 1,786 1,924 1,720 1,720 1,720 1,720 1,720 1,720 1,720 1,720 1,720
a5t CHUEE Bt 4,695 4,767 4,828 4,829 4,813 4,806 4,795 4,791 4,772 4,760 4,748
—F KER—AXFEREY) 13,530 13,740 13,852 13,827 13,744 13,698 13,634 13,608 13,511 13,450 13,391
—R+ER | BRRERY 9,772 9,651 9,768 9,775 9,749 9,739 9,722 9,718 9,686 9,670 9,651
CHUIESE (—HRBESRY) 5,664 6,007 6,329 6,336 6,310 6,300 6,283 6,279 6,247 6,231 6,212
(EEXRBERY) 4,108 3,643 3,439 3,439 3,439 3,439 3,439 3,439 3,439 3,439 3,439
=L HaE 23,302 23,391 23,620 23,602 23,493 23,437 23,356 23,326 23,197 23,120 23,042




(CHUEEDRBU(BH2FE~3FESREREC OV )]

BTt
BH2FE TH3EE
HEaR Sra(GRERD) | RAEGEERR) | BAEICLDE — SKHa(EERD) | RAGERR) | REICLDE ———
A B C=B-A D E F=E-D
U5 — 2,302 2,348 +46 | B0+ SIS (R 11> 2,289 2,301 +12[Caamams Ewm n S
£ 2 (REEF—IBERN) 2,203 2,235 +33[ iR (ECH) D5 2,033 2,127 04 et SIS (ECH) DD
i |Eom@sn—mmmn 1,306 1,318 +12| iR CEC ) 1S 1,257 1,310 +54 | Bt CHIIBH(ECH) DD
gt 3,508 3,553 +45 3,289 3,437 1148
B 7,812 7,812 +0 8,021 8,130 +109[CHUBB(RERTI DS
£ZH 33 0 -33 | ECH (RER—MRBERY N 53 0 -53 |EIH(RER—MBERI A
P 120 120 =0 100 206 +106 | SHEBARK) 15 (491 06t)
HE 41 0 41| uonEYs—A 0 0 +0
REEF—IRFER (A ) 8,006 7,932 74 8,174 8,336 1161
B 1,024 1,024 =0 1,393 1,405 +11|SHUBG(EERTIDS
EZH 12 0 S12|ECH (BRRA—ERYN 32 0 -32 |ECH(BRRMERIN
URUE 12 12 +0 8 8 =0
TGS 79 79 +0 77 77 =0
B |CHmE 531 531 =0 502 502 +0
BIRRE () 21 21 =0 18 18 +0
RS 274 7L 144 144 +0 144 144 +0
HIRER 640 640 =0 678 678 +0
ERF— BRI (A3 2,464 2,452 12 2,852 2,831 21
—fgBEsRy (&3 10470 10,384 36 11,026] 11,167 1140
B 2,321 2,321 +0 1,719 1,719 +0
TR 1 1 =0 0 0 =0
R (23D 2,321 2,321 =0 1,719 1,719 =0
B A% 12,792] 12,705 36 12,745] 12,886 1140
B 0 0 =0 109 0 -109 | BeniE (REER IO
FIH 0 0 +0 41 0 -4 | ECH (RER—MBERI N
T 827 827 =0 845 845 +0
P 187 187 =0 238 132 -106 | BE5 (A A (#1061)
R 5 0 UL~ 12 0 12| uBonETs—A
B 119 0 +119| FHEBIRL TL 37250t 92 0 +92| FHEHIRL TL 3750t
RER—IRERY (G5 900 1,014 +114 1,153 977 -176
AT 0 0 =0 11 0 =17 | BERNFEER (BRI
HTH 0 0 =0 21 0 21| (EHF—RIFETRI) A
0 229 121 -109| AR (#1090 ZH< 126 126 =0
U 10 10 +0 8 8 =0
TR 0 0 +0 0 0 +0
s | 162 162 =0 165 165 +0
HATEE 9 9 *0 4 4 *0
AR (— %) 1,575 1,575 +0 1,541 1,541 +0
RS2T 1 7R(AIR) 0 0 *0 0 0 *0
RS 274 7R 18 18 +0 21 21 +0
TEEE 0 0 £0 0 0 *0
ERF— I (A3 2,003 1,895 109 1,899 1,866 33
—fgEsE (230) 2,904 2,909 +5 3,052 2,843 2209
BLA 0 0 £0 0 0 *0
T 1,231 1,231 =0 1,380 1,380 +0
TREENIK (FERE) 552 552 +0 541 541 +0
TEEE 4 4 £0 3 3 +0
R (23D 1,786 1,786 =0 1,024 1,024 =0
Caamg At 4,690 4,695 +5 4,977 4,767 2209
REEF— IR 13,411 13,530 +119] 5 (01) 13,649] 13,740 +92] it (01)
ERRFERY 9,881 9,772 109 9,651 9,651 0
L 5,773 5,664 109 wABK(#1090) 6,008 6,007 0
BEREE 4,108 4,108 =0 3,643 3,643 +0
e 23,202 23,302 +10 23299 23,391 192
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(CHUEENRBL (FHAFELURDEZFICDOWNT)]

BAfirit
SH2-3FE SHAEE | HIRER
i3 RERITY | AERERTY | WIBEAGHE | /EHERLE SHAFELIEDIEERBUICHRDIEXA
G=(A+D)/2 | H=(B+E)/2 I H/1
1o eos5— 2,295 2,324 2,307 101%|R2~3FERBBTIGEEHEICE (5% LU T) RV ENSEHEDHFEER
FTH (RER—ARBERD) 2,118 2,181 2,271 96%|R2~3FERABEFZTIHBICE(BRUT) B RV ENSHBOEFZER
Lfﬁ:@—ﬂ%i% FTH(BFRRMBERED) 1,281 1,314 1,582 83% |R2~3FEREH TN ALY 1A BB URE -+ A\O-FRBEK H 5 AOHE - FRAKERL THER(R2.2~ 10T TIERSLCHESGY)
INEt 3,399 3,495 3,853 91%
AR 7,917 7,971 8,102 98%|R2~3FEHAREBZTIHBICE(BRLUT) IRV ENSHBOEFZER
£ 43 0 0 -
R 110 163 198 82%|R2~3FEEFEETINDTAHZVIHI AHHE QRS+ AO+-FEBH) M S AO#ET- FRBAHZERUTED
&R 21 0 0 -
KEEZR—RMXERERY (551) 8,090 8,134 8,300 98%
AT 1,208 1,214 2,076 58% |R2=R374 LY (EERE=BH£HZ—F) DHEH 3720, RIFMEN ALY 1B AHHE UEBE-+ AD+EHBH) NS ADHE - FRBRKERC CEE
£ 22 0 0 -
URRUE 10 10 15 67%|5HE(H27~R1 I TERE) > R2~ 3FEREERTIITEE
TR 78 78 94 83%|EHE(H27~R1EITERE) > R2~ 3FEREZRTIITEE
ISR I HHEAE 517 517 572 90%|R2~R3FEFRERITI CEREDMRIEE) H S HFRAEE15.20% = ZAL TEE
EIRFEE (A1) 20 20 22 91%|R2~RIFEFRERITII (RO FERUIESE) H S ER (AR HEEX0.85% = FAULTEL
M7 1 PRER) 144 144 146 99% |EtE (R1~R2FGTEZE) = R2 ~ 3FEFR R TIITEE
HIRERE 659 659 1,246 53%|AZEZ 700t THREEF A D=8 RAFEELIZE700tEE
BER—RERY (G 2,658 2,641 4,170 63%
— BRI (A5 10,748 10,775 12,470 86%
ATRR 2,020 2,020 1,690 120%|5HE (R1~R2RAFE — A LY ERIATRIUREERE) = RIFERBE CEE (R2EREIEALYNEFND)
TERE 0 0 0 -
EEXERERY (G5 2,020 2,020 1,690 120%
WEAIfEER At 12,768 12,795 14,160 90%
TR 55 0 0 -
£ 20 0 0 -
TR 836 836 902 93%|R2~3FEEFEERFIIDTAHZVTHCAHBFHEQEE+ AO+-FEBH) 1S AO#ET- FRBHZERC TEL
R 212 159 149 107%|R2~3FEEFER TN AHZVUTIBCHHHE (EE+- AO+-F/-BH) H S AOHET FHEBRZERLC TER
&R 9 0 0 -
73 hda -105 0 -106 0% | D FHEREBIRLTVSH0tET S
KEEZR—MREEREY (531) 1,027 996 945 105%
ATRR 6 0 0 -
£ 11 0 0 -
TR 178 123 206 60%|R2~3FEEFEETIDT AV THI ABHE QRS- AO+-FFBH) NS AO#ET- FRBAHZERUTEL
VA 9 9 10 94%|EHE(H27~R1 I TERE) > R2~ 3FEREERTIITEE
S IHHAE 0 0 0 -
SRS HRRE 164 164 144 114%|R2~R3IFEREFI T (EROFERUES) H S ER (TR HAEEXT.13% = FHALTEL
AR 6 6 5 118%|R2~R3IFEHAEAITI (EBRDFERNIESE) H SHEKX (AR FHAEES5.91% = FHAULTEL
TREENIK (—BE) 1,558 1,558 1,740 90%|R2~R3FEFRERIFII (RERDFEAEERALIESE) DILER16.48% DA, 84%EE 7
N7 1 PR(ETR) 0 0 0 -
ST PREE) 20 20 24 84%|EtE(R1~R2FHTEE) = R2 ~ 3FERERTIITEE
TERE 0 0 0 -
BER—RERY (G 1,951 1,880 2,129 88%
—ixEERY (G35 2,978 2,876 3,074 94%
ATRR 0 0 0 -
TR 1,305 1,305 1,285 102%|51EI(R1 ~R2 RATITRALIEEE) = RIFEERF CEE (DR FHAEEAFITE LR W)
TREENIK (FERE) 547 547 611 89%|R2~RIFEFAEATTII (KD BEAFERUIEE) DIEKEZF16.48% DA, 16 %EE -
TERE 4 4 0 -
EEXERERY (G5 1,855 1,855 1,896 98%
CHNIBS BE 4,833 4,731 4,970 95%
KEEZ—RXERRY 13,530 13,635 13,823 99%
BERERY) 9,766 9,711 11,467 85%
CHIIBE | BERMREEEY 5,890 5,836 7,881 74%
EEERERY) 3,875 3,875 3,586 108%
Hwas 23,296 23,346 25,290 92%




